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QUESTION 1

Results catching has been configured on a business service. A previously cached result has been flushed from the

cache.

Which two events may have occurred?

A. Result catching has been disabled for the business service.

B. The WSDL resource for the business service has been updated.

C. The back-end service referenced by the endpoint URI has become unavailable.
D. The back-end service has returned a different response for the cache key.

Correct Answer: BD

QUESTION 2

Consider the current values of BPEL variables InputVariable andOutputVariable:

uery Input> : <ns3:query_Output>
:Row_Id>B808</ns2:Row_Id> <ns3: Agent/>
tquery_Input> '</ns3:query_Output>

Then consider the following BPEL activity Assignl:
query="/ns2: query_Input/ns2:Row_Id"/>

query="/ns2: query_Outnput/ns2:Rowld"/>

Which two changes allow Assignl to work with the current values of InputVariableandOutputVariable?
A. adding the attribute bpelx :insertMissingToData="yes"to line 2

B. adding the attribute bpelx :insertMissingFromData="yes"to line 2

C. correcting the namespace prefixes in line 5

D. correcting the namespace prefixes in line 8

Correct Answer: BC

QUESTION 3

BPEL processes are being used to implement both the service and client sides of a synchronous web service
interaction.
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Which statement is true?

A. When acting as the client, a BPEL process may omit the Invoke activity.

B. When acting as the service, a BPEL process may omit the Reply activity.

C. When acting as the client, a BPEL process may not invoke as asynchronous process and wait for a callback.
D. When acting as the service, a BPEL process may not reply to the client with a well-defined fault message.

Correct Answer: D

QUESTION 4

Which three statements are true about the Oracle Enterprise Scheduler Service (ESS) facility?
A. An ESS job request processor is responsible for allocating threads for job requests.

B. An ESS job request dispatcher polls for job requests and invoked jobs.

C. A WebLogic cluster must be established because ESS cannot run on just a single node.

D. On the scheduling service home page, you can quickly find a list of the 10 job requests that have been running for
the longest period of time.

E. ESS is used internally by SOA Suite and you typically don\\'t use it to schedule your own jobs.

Correct Answer: BCE

QUESTION 5

You are about to upgrade an environment from SOA Suite 11g to SOA Suite 12cand you want to make sure that you
meet the prerequisites for the upgrade process.

Which two options are prerequisites?

A. The operating system and the JVM must be 64-bit.

B. SOA Suite must be at the 11.1.1.5, 11.1.1.6 or 11.1.1.7 patchset levels.

C. Oracle Platform Security Services (OPSS) must have been migrated to use the DB or the LDAP-based policy store.
D. The SOA server must be a single-node server so that it is not part of a SOA cluster.

Correct Answer: C
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